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PRI _ KL —
smn | owm | AR | AKE : _ —CHHE _ ‘ W%'&mgﬁgwq/m .
Yo K ik . (©) (m) kiR | Bk ki g | EBLE [msene] s L B v A i %
(©) (m) (cm) (mS/m) [ (mg/L) (%) Cs—134 Cs-137
s ] 8 10H [ 27.2 0.3 18. 1 0.0 B % W R 7 O Tk [ >100 18.3 2 0.6 <0.57 <0.70
D o felrie HARHEAT 117 14H fiff 11.1 0.4 11.4 0.0 B 2 WK 22 D ok Bii3 >100 886 1 0.3[ <0.94 €0.78
- . I 8 10H L] 28.4 0.3 18.7 0.0| JRAHDERA & O8] i3 >100 49.0 4 1.6] <0.61 <0.61
2w il Wl 1114R i 13.7 0.4 11.5 0.0[ JRA Dk & H O Fg >100[ 2,510 2 0.6 <0.81 <0. 84
8HTH L 29.0 0.3 21.6 0.0 JK 2D Bk 1 >100 12.9 3 0.8 <0.84 <0.72
E1ESI RIS 11/16A i 17.6 0.3 10.6 0.0 B 2 W R 0 8% f3 >100 14.2 1 0.5| <0.90 <€0.93
—R 2H11H i 3.9 0.3 5.1 0.0 B % W R 7 O Tk i3 65 13.3 6 4.0[ <0.87 <0.89
N . 8A8H i 21.3 0.3 19.8 0.0[ 12 VKA Ok 2O 8| IR >100 9.9 1 0.6] <0.87 <0.55
e Ty iR 11H16H i 18.2 0.4 11.2 0.0 W % WK D 3 i3 >100 10. 4 <1 0.4 <o0.68 <0. 74
l 8/5H i 32.5 0.6 23.0 0.0 VR A2 0D ek f3 >100 12.5 5 2.3 <0.87 €0.72
° R R A Siidain 11H19H i 15.1 0.5 11.1 0.0 1 % W R D B i3 >100 12.5 <1 0.5 <0.81 <0.61
] 8/5H i 26.8 0.5 17.8 0.0[ 15 VIR ADIGAEH V8| K >100 7.1 2 1.5[ <0.94 <0. 84
6 KA 11H19H It 20. 1 1.0 11. 1 0.0[ 15 WIKRADFRAZH 8| >100 9.0 <1 0.6 <0.76 <0.89
] ol 2ATH i L9 - - - - - - - - - - HMED%, RRTET
8A5H i 34.4 0.4 23.1 0.0 JK 2D Bk 1 >100 9.3 2 1.6] <0.84 <0.78
7 KA 11A19A i 9.9 0.5 9.0 0.0[ 12 WIKADRAEHOT- 8| ] >100 10.5 <1 0.7] <0.91 <0. 84
] S 2HTH 55l 1.9 0.4 3.3 0.0 JK 2D Bk 1 >100 11.1 1 1.2| <0.93 <0.89
861 2 33.5 0.3 22.5 0.0 W2 WK D8 Fg >100 12.1 4 1.4 <0.91 <0. 89
Ji 8 Bl TR 11H21H 15} 12.6 0.5 10.6 0.0| JRAHDFRIE MO T i 43 12.6 16 7.5 <€0.91 <€0.93
M 2H7H i 2.8 0.4 4.4 0.0 B 5\ MK A0 Bk e >100[ 171 3 1.6[ <0.80 <0. 89
8H6H L 33.1 0.3 23.6 0.0 1 % W R D B i3 52 9.8 7 2.5 <0.76 <0.89
9 4 [P S0 11A21A i 12.6 0.3 12.2 0.0[ 15 WVIRADFRAZH V=8| K >100 16.5 2 2.0 <0.97 <0. 84
* 2A7H 5 5.3 0.3 5.3 0.0[ JRZDikIZ O 8 i 27 15.4 3 3.4 <0.94 <0. 89
R 8H6H [ 31.1 0.2 23.3 0.0 B 5 VK A0 Bk [ >100[  10.5 1 0.9] <0.94 <€0.93
10 75 gl Ealik 11H21A E 10.9 0.5 10. 4 0.0 1 % W R D 3 i3 >100 10.9 <1 0.8 <0.91 <€0.72
] * s 2A8H i -1.9 0.3 1.6 0.0 W 5 UK 2D 8 f3 >100 10.7 <1 0.7] <0.94 €0.72
& 8H6H L 25.5 0.2 22.3 0.0 JRH DB i3 >100 20.5 7 2.5 <0.87 <0.72
11 K — At 11A21A ® 10. 8 0.4 10. 3 0.0 1% WK A D 1 >100 21.7 2 1.1 <0.87 <0. 84
2H8H E -1.4 0.3 2.1 0.0 JK 2D Bk i3 57 19.0 7 3.6 <0.93 <0.93
] 8ATH 2 25.7 0.3 23.0 0.0 W 2 W R 72 0 Sk piig >100 14.4 1 0.7] <0.84 <0. 84
12 BINPHE | Lo 11A17H 5 15.4 0.3 9.2 0.0[ JRZDifkIZ O 8 E >100 17.6 2 1.0[ <0.91 <€0.93
] 2A8H i -0.1 0.4 3.2 0.0[ 15 VIR A DG A EH V=8| K >100 15.5 2 2.0| <€0.94 <0.89
8HTH L 26.8 0.2 23.3 0.0 B % W R 7 O Tk i3 >100 15.9 1 0.5 <0.94 <0.89
13 BIENITHE AR — B 114220 Ii'§ 0.9 0.3 8.1 0.0[ A B WIKADFRBZH V=8| & >100 19.5 2 0.9 <0.93 €0.93
2H9H E -3.9 0.5 0.7 0.0 B % W R 7 O Tk i3 >100 17.3 3 2.0[ <0.93 <0. 84
] 8ATH i 26.2 0.5 22.2 0.0 WK 2 D ik Fg >100 12.0 4 1.8[ <0.72 <0. 89
14 Bl Tkt ANAH ) 11H22H 5 5.6 0.6 8.9 0.0 IRBDfkIEHOT- 8 4 90 12.1 6 3.1| <0.87 €0.78
2A9A £ -2.4 0.6 1.4 0.0 JR D Bk pi3 >100 14.9 2 1.8| <0.92 <€0. 89
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PRI AT - , - A PEYE

SR i SR | Ak ‘ __ LY i . ‘ ﬁwrmgaggusq/m

Yo K i - (©) (m) KR | AR ot P wE [wamnn|  ss [ T v o A
(©) (m) (em) | @S/m) | (mg/L) | () Cs—134 Cs-137

8H13H 15} 32.1 0.4 23.4 0.0| JRAHDFRA & O i3 >100 14.9 6 3.0 <0.78 <€0.78
15 Ll TR A 11A18H fit§ 14.7 0.3 9.7 0.0 B 5\ K 20D # e >100 16. 1 <1 0.5 <0.92 €0.72
2/ 10A L -0. 1 0.3 2.6 0.0 1 % WK D B i3 >100 16.5 2 0.8 <0.92 <0.93
] 8131 i 24.6 0.5 17.8 0.0 W 2 WK 0 Bk piig >100 15.4 1 0.9] <0.80 <€0. 93
16 BPUI B 11718H 15} 9.4 0.5 7.6 0.0 W % WK B 0 Bk i3 >100 29. 8 ! 0.1] <0.84 <0. 84
] 2A10H = 0.5 0.4 4.4 0.0 W % UK 220 Bk f3 >100 25. 4 <1 0.5| <0.65 <0. 64
8 13H 15} 31.5 0.7 19.0 0.0| JRAHDERA & O i3 >100 14.4 4 1.5| <0.97 <0.78
17 A HiHE 11/18A ® 13.2 0.6 9.4 0.0[ 12 VKA DRAEHOT- 8| ] >100 16.8 <1 0.3] <0.88 <0. 64
] o 2/10H E 0.0 0.5 4.8 0.0 W % VR B 0 Bk i3 >100 16.5 <1 0.4 <0.80 <0.89
8A11H i 36. 0 0.5 19.5 0.0 JR I D ik f3 55 15.4 19 3.5| <€0.91 <0. 89
18| Ak [ R A7 11A17H It 16.7 0.4 10. 1 0.0[ F1 5 WK A D 2 08| >100 17.4 <1 0.5 <0.88 <0.72
| Jﬁ - 2A11H 2 3.6 0.5 4.3 0.0 W] % UK 220 Bk f3 >100 17.7 <1 0.5| <0.94 €0.72
J K 8HI11H I 29. 4 0.3 19.8 0.0| JRAHDERA & O8] i3 >100 13.8 7 2.7| <0.71 <0.55
19] 3 | TR LW |5 HE L1LA17A i 4.6 0.4 7.1 0.0 W % WK D3 fi3 >100 16.6 1 0.7] <0.91 €0.78
2H5H £ 0.8 0.3 2.4 0.0 W % WK B 0 Bk i3 >100 18.6 2 1.3] <0.95 <0.89
] 8151 i 28.3 0.7 21.9 0.0 VR A2 0D 3 f3 82 10.4 7 4.2| <0.88 <€0. 93
20, (S]] E[ASY1E ] 11A17H Iif§ 10.6 0.4 9.0 0.0[ 15 WIRADRAZH 8| >100 12.1 1 0.9 <0.68 <0.61
] 2A11H it 2.4 0.3 2.6 0.0 W % UK 220 Bk f3 >100 14.8 1 1.5[ <0.78 €0.78
8HI11H 15} 33.2 0.5 22.3 0.0 W % VR B 0 Bk i3 >100 16.9 4 2.1| <0.76 <0.55
21 i) | il 1 A 11A220 Ii'§ 13.5 0.3 9.7 0.0 W 5 UK 20 8 f3 >100 21.5 1 0.9] <0.91 €0.72
2H12H 15} -2.5 0.5 2.7 0.0 W % VR B 0 Bk i3 >100 23.4 1 1.0| <0.87 <0.93
] 8/ 141 i 27.4 0.3 24.7 0.0 JR I D f3 85 12.8 7 4.5 <0.97 <0. 89
22 ol PRl 11H22H It 13.7 0.4 9.4 0.0[ 15 WIRADFRAEH | >100 18.5 2 1.4] <0.94 <0. 84
27120 i 4.4 0.4 2.1 0.0[HpVIKADIRAEH O] &K >100 16. 4 3 2.5| <€0.86 <0. 84
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PR ) _ a _
e P iR | ek —fRIEE JSHER R EE [Ba/ke (#2E) ]
o Kk Kotk - © | R | R i s BUEALIR (%) aweE [ wE | W > 9 2 i %
- s © | =~ ey [ s [ | By | owe [ men A ba] Bits | ) | @ad) Cs-134 Cs-137 Al
™ 77 - P - o e 06 - 2.6 5 8 = ; ;
| - [— - 8H10H Bf 21.2 0.3 191 3 o.0f 1.1 9.6 .7l 990 20.] 3.7 15[ so.of zeri] @ .8 28 + 3.0 28]
1UIL4H | B 111 0.4 10.9] 3 0.0 34.6] .3 . 1.7 0.0 0.8]  80.6] 3 .1 7.1+ L7 7.1
i P B g P 9 9 5 9 9 3 9 i 9 + 26 9
Sl - pa | 08 Bf 28.4 0.3 19.7 3 0.0 2.5 .5 28.0) 1.6 1ol sl 27ul B | 075 5.9 = 0.36 5.9
1UIL4H | B 13.7] 0.4 10.5 3 0.0 8.5 .5 25.5 6.0 L7 80.0 3 3.4 3.1+ 0.92 3.1
SHTH S 29.0 0.3 21.8] 3 ) 0.0 6.3 3.1 L3 0.0 L8| 8.0 6.0 22 * 2.7 22
RIENIL EIRIET 1UI16H | W 17. 6] 0.3 10.6] 3 [N 2.4 343 5. 2 1.8 0.5 L4 176 .2 31+ 3.1 34
B 2J111H [ 3.9 0.3 1.9 3 ) 0.0 5.8 1.6) 0.9 L7 12 .7 38+ 3.5 38
. 8J18H i 213 0.3 19.6] 3 ) 0.0/ 155 0.8 0.6 L8| 6.3 .9 20 * 2.6 20
Rl T i -
o i 1UI16H | W 18. 2] 0.4 114 3 KAV —7 0.0 33.6] 0.6 0.0 L1 786 4.2 20 + 3.1 20)
} 8J15H [ 32.5 0.6  24.7] 3 ) 0.0 342 0.9 0.0 0.5 86.6] B <o 18 = 2.3 18
5| BRI 115 & WY 2
VR i 1190 | B 15.1 0.5 10.8] 5 ) 0.0 126 1.6) 0.1 L4 6.8 B 1+ 18| 11
8J15H [ 26.8§ 0.5 193] 3 ) 0.0 16.8] 1.6) 0.1 Lol 790 2690 - [ <26 3.6 = 0.92 3.6
6| KA 1190 | 20. 1 Lo| 112 5 ) 0.0 1.1 18| 0.0 L5 764 2675 @ 3.3 3.9 £ 0.93 3.9
g1 2HTH il 1.9 | | | - | | | | | | | - - -|HEoR, ERTET
B 8J15H [ 34.4 0.4 23.4 3 0.0 6.6 22.5 19| L8| 70,0 .2 20 * 2.7 20
7 KA 1190 | 9.9] 0.5 9.1 5 0.0  34.8] 2.8 0.8 0.8]  80.9] 4.2 5.8 + 1.4 5.8
P 2J17H i 1.9) 0.4 2.7 3 0.0 1.6 10.2 0.9 L7 6.6 .1 1 = 19| 11
8516H S : 0.3 24.2) 1 0.0/ 17.3 115 0.1 2.2 78.7 3.0 1.5 = 0.98 1.5
wr| Je ki R 1210 | W 0.5 1L1 3 0.0  36.3 1.9 0.4 0.8 821 2.4 6.2 + L1 6.2
N 2J17H i 0.4 4.6} 3 L5 247 5.1 L1 L1 so.of 2703 @ | <26 1.2 = 0.9 1.2
8516H 2 0.3 247 3 [N 0.0 29.9] 3.4 0.1 2.8 800 a7l weg | <0 15 * 2.6 15
9| 4 (BRI £ 1121 H [} 0.3 12. 0} 5 i) 0.0) 35.6 3.1 0.5 1.0 78.0 4 4.4 19 + 2.5 19)
IS 2H7H [ 0.3 5.1 3 IR 0.0| 9.6 18.3 2.8 2.6]  75.8] 4.6 51+ 1.0 51
I 8H6H [ 0.2 23.4 3 ) 0.0 10.4 15.3 2.6 12| 3.7 .2 30 * 3.1 30
10} § Sl Eclllc 1H2IH | . 0.5 10.5 3 # 2.4 25.6] 8.2 L2 L1 761 4.0 29 + 2.9 29)
- SEgr 2184 [ 19| 0.3 L3 3 ) 4 0.0 3.1 1.4 3.0 L9| 7L .8 29 * 3.3 29
7 8516H S 25.5 0.2 225 3 [N ) " 0.0| 7.0 7.7 0.9 2.6 76.5 4.6 21+ 2.7 21
11 K1 1A 1WH21H | 10. 8] 0.4 10.5 5 # [ 0.0 3.7 7.4 10| L8| 739 .4 36 + 3.5 36)
2184 = -1.4 0.3 2.3 3 218 ik 0.0 19| 2.8 0.0 Lol 751 4.2 32 * 3.1 32
SHTH S 25.7 0.3 22.8] 3 # I3 0.0 0.1 1.9 L7 3.2 12| 2.6 .1 23 * 2.9 23
12 I | EOE IWITH | 15.4] 0.3 9.1 5 [N 0.0 10.8] 12.1 0.9 16| 7196 2 .1 13+ 2.1 13
2J18H [ 0.1 0.4 3.4 3 248 L5 0.3 11.6 0.0 IZE 5 .6 22 * 2.6 22
SHTH S 26.8§ 0.2 227 3 ) 0.0/ 19.1 1.4 L3 2.5 76.3 3.7 21+ 2.0
13] BT IS Bt 11122H [} 0. 9] 0.3 8.3 3 [ = 0.0) 5.9 5.0) 0.7 11 79.6 4.6 23 + 2.6
25198 = 3.9 0.5 0.6 3 ) ik 0.0 114 19| 0.0 15| sl o 4.0 23 * 2.6
SHTH i 26.2 0.5 22.4 3 WA — 718 BFA 0.0| 0.0 65.3 L5 1.9 .0 2 3.2 6.2 * L2
14] Elall] T ILH5) 11122H [ 5. 6} 0. 6} 10. 0} 3 [N i3 0.0) 0.0 67.2 9.9) 2.4 63.8] 2. <6.8 23 + 3.3
2J19H = 2.4 0.6 2.2 3 HU—718 " 0.0] 0.1 57.0) 2.8 2.9 705 2 1.0 16+ 2.5
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R
BRI ) ) — .
e P iR | ek —fRIEE JSHER R EE [Ba/ke (#2E) ]
o K, s, [r— © (m) R | PRIETE e s HEBEAHLRE (%) I | WAt v Y A fii%

) _ © | (m - sy | sy | iy | Rasy | oy | sy [oov o] Bty | (6) | (g/en®) Cs-134 Cs-137 A8
8J113H [ 32.1 0.4 22.8] 3 [ ! 0.0 10| s ses[ 192 6.9 0.7 L3l 791 4.1 16+ 2.3 16
15| L ECE 117 18H [ 14.7 0.3 9.8] 5 [N 0.0) 8.8 26.0 38.4 L7 0.7 13 72.6 .5 19 = 2.8 19
2/ 10H S 0.1 0.3 2.6 3 ) 0.0| 0.5 3.0 8.7 1.6) 0.1 Lo| 2.6 .1 22 * 2.9 22
8J113H [ 24.6 0.5 17.9] 5 % 0.0 8.4 156  36.8 1.6 0.0 L5 174 .2 “ = 3.7 m
16} BRI (e 1ULI8H | 9.4 0.5 7.7, 3 V—718 0.0 239 389 30.1 6.2 0.1 0.0 0.7 79.1 .5 22 + 2.7 22
2/ 10H = 0.5 0.4 3.5 3 PR 3 0.0 2204 267 2ms[ 218 0.7 0.1 Lo| 8Lz . 4.2 “ = 3.4 m
8J113H [ 3L5 0.7 19.9] 5 [N ) 0.0 8.9 206 o1 282l 124 0.7 21|  s0.2| 2605 - | <38 1 = 2.1 11
17 i HHISH | %% 13.2 0.6 8.6 5 % 0.0 0.4 10.9] 7.5 9.4 0.2 0.0 L7 6.8 3.8 7.2 * 1.4 7.2)
P 2/ 10H = 0.0 0.5 2.3 3 WK 0.0 0.0 0.3 7.6 6.8 0.1 2.0  TL2 .9 18 = 2.6 18

(I b

8H11H [ 36. 0} 0.5 20.9] 5 PR ! 0.0| 0.0 0.0 0.7 61.0) 6.6 5.6  72.7 .7 26 * 3.2 26
18] At it IWITH | B 16.7] 0.4 9.9 3 FU—71 " 0.0 0.0 0.0 3.2 . 3L7 0.2 2.0 L4 .7 13+ 2.3 13
i ﬂ“ o 2A11H S 3.6 0.5 4.5 3 PR ! 0.0| 0.0 0.1 L5 6L7[ 318 0.0 2.0 7.3 .4 22 * 2.8 22
N * 8H11H [ 29.4 0.3 20.3 3 [N ) i 0.0| 0.8 1.8 212l 509 9.8 0.1 2.5  72.5 4.9 13 = 3.7 13
19 % [FRUI B |5 HE IWITH | B 4.6} 0.4 7.2 3 % 0.0 3.2 2na| oz 23 7.5 0.8 L5 753 .7 30 + 2.9 30)
2158 2 0.8] 0.3 2.0 3 IR 0.0 0.5 10.6] 7.0 457 3.6 0.0 2.6]  75.6] 3.9 23 * 2.8 23
8J115H [ . 3| 0.71  22.9] 3 % 0.0 0.0 0.0 0.1 376 516 1.9 2.9 7201 2720 W .3 1 = 2.1 11
20 Je ki I B IWITH | B . 6] 0.4 9. 0| 3 % 0.0/ ans| 141 7.4 308 5.1 0.0 0.9 789 4.4 7.5 + L5 7.5
2J111H [ 1 0.3 2.6 3 PR 0.0/ 336 131 75| 38.6 6.2 0.1 Lo| 808 .1 7.9 * L7 7.9
8H11H [ 33.2) 0.5  22.1 5 FU—718 " 0.0 0.0 0.0 Lo| 8.2 7.1 10| 2.9 71Lo| 2681 @ .3 16+ 2.4 16
21 sl 1 1 122H | B 13.5) 0.3 9.4 5 % [ 0.0 289 9.4 187  37.6 1.2 0.0 Lo ter| et wEE | @l 1+ 2.1 14
21121 [ -2.5 0.5 3.2 3 PR ik 0.0 8.1 1.3 122 66.6 6.2 10| L7 o8| 2699 - [ <54 9.8 2.3 9.8
8J114H [ 27.4 0.3 25.2 3 [N WSS 0.0 222] 12l  2n7[ 367 3.4 0.1 s ron|  o.tse| W | s 19 * 2.5 19
22) 2l KAl 1H22H | B 13.7] 0.4 9.7 5 % I3 0.0 2.7l 130l 1.0l 353 1.2 0.6 L |l 2mae| weEE | @9 21 + 2.6 21
2J112H [ 4.4 0.4 2.6 3 PR e 0.0 0.5 5.3 25.4] 49.5] 157 10| 2.8 5.7 2.7u| W@ | s 15+ 3.7 15
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JHDBREE (1, ZE ] )
BRI . JifE FifE
FERA | R | S ORI E [Ba/ke (30) ] ) SESHEMFTIE [Ba/ke (W2) ]
© th s | ek B~ 9 & ERRE gy s | ek Tk 4 I I fis
No. Kisk4 Hi 4 AHRrAT (uSv/h) _ (uSv/h)
Cs=134 Cs-137 ait Cs-134 Cs=137 &t
N - . 8H10H Iif§ 27.2 g i g <1.9 38 + 1.6 38 0. 04 I 18 et g 9.3 + 2.4 170 + 9.6 179.3 0.04
1|51 FEIFHR KAt 11A14A I3 LI 50 | Mt HE <11 58 + 6.0, 58] 0. 05 R et oy 23 + 3.7 390 + 14 413] 0. 01
- . e 8/10H i 28.4 [ et | WE 2.2 2.6 = 0.80 2.6 0.0 wEVEB |t | EmE <1.2 L3 = 0.36 1.3 0.04
2w it b 11714 i3 13.7 W 18 Wt WE <6.7 S 2.7 14 0.04| ICHRVER | Wt HE | <0.58 1.3 + 0.21 1.3 0.04
8ATH 2 29.0 - - - - - - - i Wt g 17+ 2.8 260 + 10 277 0.05 () @it L
3[R EHRLEE 11716A i3 17.6 - - - - - - - Wt g 13+ 3.0 230 =+ 12 243 0.05 () @it L
B 2] 11H i3 3.9 - - - - - - - Wt g 8.1 + 1.9 160 + 6.5 168. 1 0.06| (AR FEiitieia L
dlean - 8A8H i 21.3) i wmt | e 1+ 2.8 210 * 9.5 221 0.05 et | WE 8.6 + 2.2 170 =+ 7.1 1786 0.05
11A16H i 18.2] 125051 Wt g 13 + 3.3 250 + 13 263 0.04 Mt g 21 + 3.9 390 + 16] 411 0. 05
N 8A5H fif 32.5) i wmt | WE 9.6 + 2.2| 160 =+ 7.8  169.6 0.04 et | e 1.9 91 + 1.9 91 0.04
75 R VR i T 11A19A I} 15. 1] 50t | ek E 10 + 3.2| 220 * 13] 230 0.04 Mok | HE <8.4 150 + 9.7 150] 0. 04
8H5H i 26.8] ICHVEEE [ b | WE 13+ 3.0/ 140 * 8.3 153 0.04 et | wE 9.5 + 2.3 150 + 74| 159.5 0.04
6 K AR | W 2. 1| sl | et | R <7.2 81 + 7.6 81 0.04 et | e 9.7 210 + 12 210) 0.04
| Rl 2ATH i} L9 - - - - - - - - - - - - - LB, RRTET
8A5H I3 34.4 A48 Wt H 25 + 1.5 110+ 17 165 0.04 118 Mt oy 1+ 2.6 180 + 9.0 191 0.04
7 A 11A19A I 9.9 A48 Wt H 20 =+ 9 420 = 16 140 0.04 (ZRVEEE | il g €9.6 140 =+ 9.0 140 0. 01
] U 2A7H i L9 - - - - - - 0.03 - - - - - - 0.04|fi%G DA, WTE T
8A6H 2 33.5) i wmt | e 25 + 1.1 4120 =+ 15 445 0.0 ZHEVEB | et | EmE 18 =+ 1.3 390 + 16 108 0. 06
o) 8 B} A 11/21A i3 12.6 248 Wt H 12 + 3.0 220 £ 10] 232 0.04| ICHRVERE | Mt g 16 + 3.3 300 + 13 316, 0. 06
o 2A7H i 2.8 EC) Mt | WE 6.7 10 + 7.4 110 0.03| sV EB | et | EmE 9.3 + 2.6] 220 + 1| 220.3 0.05
8A6H 2 33.1 ) wmt | wE 57 + 5.6/ 1,200 + 24 1,257 0.05 5 et | e 20 + 1.0 450 + 16 170) 0. 06
9l 4 | R 11/21A i3 12.6 g Wt H 50 + 5.9 850 =+ 21 900 0.05| (CHRWEHE | Mt g 38 + 1.9 800 + 21 838 0. 05
|k 2A7H I 5.3 1) Mt | WE 11+ 3.0 200 + 12 301 0. 06 8 [ = 9.8 + 2.4 200 + 8.4 209.8 0.04
ji 8H6H i3 L1 IcEVEEtE | et H 35 =+ 5.3 720 * 20 755) 0. 06] byl Mt oy 15 =+ 3.4 210 + 12 255, 0. 05|
10| K i EsdlllicH 11/21A 2 10.9 ) Mt HE 30 + 1.1 550 + 17 580) 0.05| (CHRWEHE | Wt g 24 * 3.6 160 =+ 16 484 0. 05
| ® s 2A8H fif e 0| oAV I = 15 + 3.5 380 + 14 395 0.04f  JR¥HE PR | T 8.4 + Lo 200 + 7.9]  208.4 0.04
8A6H 2 25. 5| ) wmt | WE 24 * 1.5 560 =+ 19 584 0.06 5 et | e 31+ 5.5 560 + 22 591 0.06
11 Nl i 11/21A ® 10.8 g Wt H 27 =+ 1.8 560 + 19 587 0.05| (CHRWEHE | Mt g 16+ 6.8 810 =+ 27 886, 0. 05
] 2/8H E -1.4 L) wt | wE 16 + 2.9 290 =+ 9.8 306 0.05 5 et | WE 13 =+ 2.9 210 + 11 283 0.04
8ATH 2 25.7 i wt | wE 34+ 1.7| 580 =+ 18 614 0.06) ZHVE® |t | HE e 3.5 310 + 13 324 0.04
12 BINPE | Lo 11A17A I 15.4 g Wt WE 24 + 1.6 160 * 17] 184 0. 05/ 118 Mt oy 12+ 3.4 260 + 12 272, 0. 01
| 2A8H I 0.1 1) A | WE 11+ 2.5 280 + 10 291 0.04 i) PRt | R 8.1 + 2.6] 200 + 8.5  208.1 0.05
8ATH 2 26.8| ICEVEEME | Mt H 7.3 + 2.4 170+ 8.4 177.3 0.04 118 Mt oy Ve 3.2 220 + 13 234 0. 01
13 BIIT |04 B 1122R I 0.9 ] et H 12+ 3.6 210 £ 13| 222 0.05| (2Rt | il g <8.3 98 =+ 6.1 98, 0. 01
] 2A9H = -3.9) [ Mt | WE 8.3 + 2.6] 180 =+ 9.4 188.3 0.03 et | wWE e 3.0 210 + 11 284 0.03
8ATH 5] 26.2 W 18 Wt WE <6.8 170+ 9.1 170 0.04 Wt g <8.0 120 + 8.1 120 0.04
14 Bl S} Tk (LA F) 1122R i3 5.6 2] Mt HE 13 + 3.4 200 + 12] 213 0.04 Wt g 13+ 1.1 210 + 12 223 0.04
2H9A S 2.4 A48 Wt H <1.7 120+ 7.1 120 0.04 Mt g 23+ 3.4 430+ 13 453 0.04
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JHDBREE (1, ZE ] )
BRI . JifE FifE
BIRH | K f&C’“‘)‘ ORI E [Ba/ke (30) ] — SESHEMFTIE [Ba/ke (W2) ] . e
Yo s sk — tate S| RIR M Ly A G Ser) fafH B | PRIR AHEE v A _ CuSu/hy
Cs—134 Cs-137 it Cs-134 Cs-137 b

87131 [ 32.1) csnEe [ et | WE 20 + 3.2 340 * 11 360) 0.0 wEVER |t | EE 15 + 2.7 260 + 9.7 275 0.04
15 = Er H 11718A i3 4.7 IS0 ERE | H 15 + 2.9 320 + 11 335) 0.04 2] Wt g 12+ 3.1 230 =+ 11 242] 0.04
] 2/10A 2 0.1 i wmt | WE 6.9 + 2.1 170 =+ 7.6]  176.9 0.03 5 et | e 6.5 120 + 7.8 120 0.04
87131 i 24. 6| wmt | e 51 + 5.3 870 + 21 921 0.0 ZHEVEB | et | EmE 22 * 3.7 390 + 15 112] 0.04
16| BN EE 11418R I 9.4 218 et H 59 =+ 6.2| 1,100 + 24 1, 159 0.04 (ZRVEEH | il g 30 * 5.2, 550 =+ 18 580, 0. 05|

] 20108 = 0.5 - - - - - - 0.03 - - - - - - 0.04|fi%G DA, WTE T
8H13H i3 315 ICEVEEE | Mt H 2 + 3.9 130 + 15 454 0.04 18 Mt oy 21+ 1.0 360 + 15 381 0.01
17 G HAIBA| & 13.2] IR0l | Mt | SR 25 + 3.7 500 + 16 525) 0.0 ZEVEB |t | EmE 29 + 1.5 600 + 19 629) 0.04
] o 20108 = 0.0[ R wmt | wE 15 + 3.0/ 360 + 13 375 0.04 et | wWE 15 + 3.8 330 =+ 14 345 0.05
8111 fif 36. 0) i wmt | WE 26 + 3.7 510 + 14 536) 0.05 et | e 38+ 1.5 750 + 17 788 0.05
18] -t gLk 11A17A i 16.7 ] et E 36 =+ 5.5 770+ 21 806 0.05 Wt g 30 * 5.2, 580 + 20| 610 0. 05
miﬁ i 2A11H 2 3. 6) L) wt | e TES 3.6/ 300 + 13 314 0.07 et | wE e 3.3 320 + 12 334 0.06
J * 8111 i 29. 4 ) Wt | WE 20 + 2.9 360 =+ 11 380) 0.06 et | e 20 + 3.0 360 + 11 380) 0.06
19| % [TRIESE |5 Wi 1LAI7RA i 1.6 248 et E 13+ 5. 6] 710+ 22, 753) 0.05 Wt g 34+ 1.6 680 =+ 20| 714 0. 05
] 2H5H 2 0.8 L) wmt | e 28 + 1.8 660 =+ 19 688 0.07 et | WE 22 * 3.9 490 + 16 512 0.06
8H15H i3 28.3 W 18 Wt WE <7.1 91 + 5.8 91 0.04 18 Mt oy 22 + 3.0 410 + 12 432 0. 05|
20 Elwl} b )1 117170 i3 10.6] 50 EH | H 28 =+ 1.9 500 + 18] 528 0.04 18 Mt oy 27 + 4.3 180 + 16 507, 0. 05|
| 2A11H fif 2. EVEM | f | HE 11+ 2.2| 250 + 8.7 261 0. 05 18 PRt | R 13 + 2.4 310 + 10 323 0.07
8A11H i3 33.2| ICEVEEtE | Mt H 1+ 2.4 210 + 8.6 221 0.04 18 Mt oy <6.1 100 + 5.9 100 0.04
21 il ki 1122R i3 13.5 2] Mt HE 6.9 + 2.2 110+ 7.8 146. 9 0.04| (CHRVERE | Wt g <8.5 80 =+ 6.9 80 0.04
| 2A128 I 2| IRV I = <1.6 95 + 7.0 95 0.03 Eaic) Bt | R <1.5 87 + 7.2 87 0.04
8H14H i3 27.4 g Wt HE 62 + 4.4| 1,000 =+ 17 1,062 0.07 18 Mt oy S 5.2 760 + 22 801 0. 06|
22 kil Pl 1 A22A | W 13.7] IR0l | Mt | SR 27 + 1.5 500 =+ 17 527 0.06 ) et | wWE 26 + 12| 570 + 18 596, 0.06
2/ 12H i3 4.4 g PR | B 17+ 3.5 450 + 16/ 167 0. 06] R ot Y 22+ 1.0 390 + 15 412 0. 06
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BRI KE
T T E B B
- o o 5 =T i _ R BT (Ba/L)
o o @ B @?1)!5 iy SS T Tk v 2
P _ m (%o) (mg/L) (B) Cs—134 —
. S| e | ar.2| 165|281 0.5 WEV RS Dk i 22.5 a s —
23| KA () S—31 = 211 16.5 - % - 32”7 R X
. 7 . 2| 16| <087 <0.81
%0 5.6 0.5 WK O a0 A
= al I [T A - BRSOk = B T al oe| <080 <0.89
o . 7 32.6 < 0.2| <0.94
, T | s | 26.8|  10.4] 246 0.5 WEV R F Dk i 22.6 2 o s
. L : 2o o5 s % 0.0 2 L1 <094 <0.78
. 7 2 < 0.3 <0.91 <0.78
20 - 5.4 0.5 W R O A
K Voo | sol s FOK DR e el 328 2| o.6| <o.80 <0.89
150 105 - s :
32.5 o o.5] <0.92 <0.78
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— T
IR s | x| wm | 2 i TR RRE [Ba/vg GRE0) ]
- o * ® © | @ [TeR | weE o R (%) HRE | BE | e L -
© | iy | ey | mi | R | ew | mwn [or ia] B | 0 | e 5134 [CE i
sl e () S—31 8J121H i 27.2] 16. 5 18. 6| 5 WAL AR 0.0 0.1 0.2 0.4 3.2] 12. 2] 49. 6| 34. 3] 42. 2] 2.615] L b <7.5 35+ 3.8
b 117200 5] 16. 5] 16. 9| 15. 3] 5 WAL AF 0.0 0.4 0.5 1.6 10.0 15.3 41.1 31. 2] 51. 7] 2.631 vk <9.0 23 £ 3.9
JE oal i S—34 8J121H [ 26. 8] 10. 4} 23. 9 5 0.0 0.4 0.2 3. 6] 62. 1 29. 8] 1. 0] 2.9 76. 3] 2. 739 w <0. 55 <0.53
) ) 11200 2 18. 9| 11. 5] 15. 2| 5 0.0 0.4 0.5 9.0 64. 5] 22. 7] 1.0 1.9 75. 6] 2. 743 w <0. 54 0.77 =+ 0. 17]







